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axbxcr} 39 W4l A9E ER el (hyelA f(_3>:p( iy & 1—87”)
a b ¢ 73l 1 1 3 1
1 4 3] w2 5 g(—4)+g(—12):PZng5 tPl-p=2=-5
2 3 all 6
3 2 all 6 1 3
4 1 39 Hj 2 ZP(ZS Z= Z)
all 2 6 6
all 3 5 6
tep3
3] W 4 4 2 o
all 5 3 6 3—m 5 )
all 6 2 6 ayeg 3 < —ZO]HUF Zc]u}

H2le A (2,3,5), (3,2, 6)

40 11
BB |- —=_—"0
122 1 51 51 I

w2t m+o=19°|c}.
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De=18 A% a, b, ¢, d oA &5 370, &5 170 S35k
step?2

1) at+b+c+d=15 =5 a+b+c+d=170]2,

a7} Eetal 7MEaU(EFF 45 FAE)

a=2d+1, b=2b"+2, c=2c+2, d=2d +2 = & v,
a+b+c+dE 4 == 50|tk

=, 4x(,H, +,H;)=364

2) atb+c+d=14 == a+b+c+d=16°]2,
a=2d+2, b=2b"+2, c=2c+2, d=2d +2 =} & uj,
a+b+c+dE 3 == 40t

<, H,+ ,H, =559}

step3

kA 364+ 55 = 419°]c}.
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